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RESERVOIR GROUP

Scale: 5"/ 100
Measured Depth Log

Kugel 1K-18H-H267

Sec. 18 T2N R67W

Colorado County Weld

USA Rig Number Ensign 153
05-123-49485 AFE # 16192097
Rockies Field Wattenberg
7/13/2019 Drilling Completed 7/17/2019

Lat/Long (NAD83): 40.139551/-104.926457

SHL: Sec 18 T2N R67W
Footage: 2218 FNL 682 FEL

Proposed BHL: Sec 7 T2N R67W
Footage: 10 FNL 360 FEL

4,953 K.B. Elevation 4,976’
6,460' To 15,195 Total Depth 15,195
Niobrara B Chalk

Synthetic Oil Based Mud (Neoflo Base Oil)

J
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Operator
Company Crestone Peak Resources
Address 1801 California Street, Suite 2500
Denver, CO 80202
CRESTONE PEAK
RESOURCES
J
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Name JOhn Ready . Qil Condensate . Gas
Company Crestone Peak Resources Note B core Bl Fressure
Address 1801 California Street, Suite 2500 Crror B e Seal
Denver, CO 80202
RESOURCES
J \_
Other
Loggers: Shana Swirin, Thomas Yull, Nicholas Watkins
Services Provided: 2-Man Mudlogging, Geosteering
Equipment: ML-558
Contractor: Reservoir Group
6360 West Sam Houston Pkwy N
Houston, Texas, 77041
Service Start Date: 7/13/2019
Service End Date: 7/17/2019
Job # 2336RK1907
Release Date: 7/19/219
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9400-9500 CHK (55%): It
gy, med gy, vi-f xIn,

frm-hrd, lam ip, rthy-chky
tex, v-calc; MRLST (45%)
dk gy, fri-hrd, sb blky-plty,
silc-arg cmt, mod-w cmtd

9500-9600 CHK (60%): It
gy, med gy, vi-f xIn,

frm-hrd, lam ip, rthy-chky
tex, v-calc; MRLST (40%)
dk gy, fri-hrd, sb blky-plty,
silc-arg cmt, mod-w cmtd
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- 9,680
- 9,690
9,700
9,710
F9,720
9,730
- 9,740
9,750
™

F 9,760
F9,770
9,780
F 9,790
9,800
9,810
9,820
9,830
9,840
- 9,850
- 9,860
9,870
9,880

- 9,890

MW IN: 10.3
VIS IN: 46
MW OUT: 10.3
VIS OUT: 44

MD: 9,692
INC: 89.69°
AZM: 0.92°
TVD: 7,237.45'
VS: 2,073.81"

MD: 9,781
INC: 89.69°
AZM: 1.09°
TVD: 7,237.93'
VS: 2,162.76'

WOB: 41klbs
RPM: 60
SPM: 218
SPP: 4,627psi

MW IN: 10.3
VIS IN: 46
MW OUT: 10.3
VIS OUT: 44

MD: 9,871
INC: 89.34°
AZM: 0.74°
TVD: 7,238.69'
VS: 2,252.69'
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mot It gy, sb blky-sb ang,

frm-brit, MRLST incl, chky

tex, v calc, v rr imbd cal;

MRLST (25%): med gy,

mot, v hrd, sb blky-sb

ang, intbd CHK, mod

calc, rr free pyr

[

1%BE4

on G, nits)

9700-9800 CHK (85%)):

mot It gy-mot gyshbn, sb

blky-sb ang, frm-brit,

MRLST incl, chky tex, v

calc, sme imbd pyr

specs; MRLST (15%):

med gy, mot, v hrd, sb

blky-sb ang, intbd CHK,

mod calc, occ free pyr
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1,000

C5|(PPM)

1565

|m
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60

6006l
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9800-9900 CHK (70%):

mot It gy-mot gyshbn-mot

med gy, sb blky-sb ang,

frm-brit, MRLST incl, chky

tex, v calc, occ imbd pyr

specs; MRLST (30%): dk

med gy, mot, v hrd, sb

blky-sb ang, intbd CHK,

mod calc. occ free pvr
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9,900

9,910

9,920

9,930

9,940

9,950

9,960

9,970

- 9,980

9,990

10,000

10,010

10,020

10,030

10,040

10,050

10,060

10,070

10,080

10,090

10,100

10,110

MD: 9,960
INC: 90.13°
AZM: 359.86°
TVD: 7,239.1'
VS: 2,341.59'

WOB: 38.5klbs
RPM: 60
SPM: 217
SPP: 4,573psi

MD: 10,049
INC: 90.4°
AZM: 359.16°
TVD: 7,238.69'
VS: 2,430.41"
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9900-10000 CHK (65%):
mot gyshbn-mot med gy,
sb blky-sb ang, frm-brit,
MRLST incl, chky tex, v
calc, trimbd pyr specs;
MRLST (35%): dk med
gy-med gy, mot, v hrd, sb
blky-sb ang, intbd CHK,
mod calc, sme free pyr

10000-10100 CHK

(50%): mot gyshbn-mot
med gy, sb blky-sb ang,
frm-brit, MRLST incl, chky
tex, v calc, tr imbd pyr
specs; MRLST (50%): dk
med gy-med gy, mot, v
hrd, sb blky-sb ang, intbd
CHK, mod calc, tr free
pyr, tr free cal wi imbd pyr
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10,120

10,130

10,140

10,150

10,160

10,170

10,180

10,190

10,200

10,210

10,220

10,230

10,240

10,250

10,260

10,270

10,280

10,290

10,300

10,310

10,320

10,330

MD: 10,138
INC: 90.4°
AZM: 359.69°
TVD: 7,238.07"
VS: 2,519.24'

MW IN: 10.3
VIS IN: 47
MW OUT: 10.3
VIS OUT: 45

WOB: 43klbs
RPM: 60
SPM: 218
SPP: 4,661psi

MD: 10,227
INC: 90.48°
AZM: 358.63°
TVD: 7,237.39'
VS: 2,608.03'

MD: 10,316
INC: 89.96°
AZM: 1.09°
TVD: 7,237.04'
VS: 2,696.88'
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10100-10200 CHK

(60%): mot gyshbn-mot
med gy, sb blky-sb ang,
frm-brit, MRLST incl, chky
tex, v calc, tr imbd cal;
MRLST (40%): dk med
gy, mot, v hrd, sb blky-sb
ang, intbd CHK, mod
calc, sme free pyr

10200-10300 CHK

(70%): mot gyshbn-mot
med gy, sb blky-sb ang,
frm-brit, MRLST incl, chky
tex, v calc, abnt imbd pyr
specs; MRLST (30%): dk
med gy-dk gy, mot, v hrd,
sb blky-sb ang, intbd
CHK, mod calc, abnt free

pyr
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IVIVV IND 1U.0
VIS IN: 48
MW OUT: 10.3
VIS OUT: 45

MD: 10,583
INC: 89.6°
AZM: 0.39°
TVD: 7,238.35'
VS: 2,963.68'

WOB: 43.4klbs
RPM: 60
SPM: 217
SPP: 4,583psi

MD: 10,673
INC: 89.52°
AZM: 0.04°
TVD: 7,239.04'
VS: 3,053.57"

MD: 10,762'
INC: 89.87°
AZM: 359.34°
TVD: 7,239.51"
VS: 3,142.42'

™N—

\\‘

—rr—

INEN

s |

—
— I~
[
|

e A A A A A A A A A A o A o o A o A A o Ay

D

I
I
——

11
i i e
I
—

—\\

EEEEFEFEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEED:

III B e e e

| L LT L e
-

_——— ™~

—/—’/

—/_—,

S

10500-10600 CHK
(85%): mot It gy-mot
gyshbn, sb blky-sb
ang-sb plty, frm-brit,
MRLST incl, chky tex, v
calc; MRLST (15%): v dk
gy, mot, v hrd, sb blky-sb
ang, intbd CHK, mod
calc, occ free pyr

10600-10700 CHK

(90%): predy mot It
gy-mot gyshbn, sb
blky-sb ang-sb plty,
frm-brit, MRLST incl, chky
tex, v calc; MRLST (10%):
v dk gy, mot, v hrd, sb
blky-sb ang, intbd CHK,
mod calc, sme free pyr

10700-10800 CHK
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10,790

10,800
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10,870
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10,900

10,910

10,920

10,930

10,940

10,950

10,960

10,970

10,980

10,990

WOB: 44.1klbs
RPM: 60
SPM: 220
SPP: 4,576psi

MW IN: 10.3
VIS IN: 48

MW OUT: 10.2+
VIS OUT: 45

MD: 10,851
INC: 89.78°
AZM: 1.09°
TVD: 7,239.79'
VS: 3,231.3'

MD: 10,940
INC: 89.69°
AZM: 0.92°
TVD: 7,240.2"
VS: 3,320.25'

MW IN: 10.2+
VIS IN: 48
MW OUT: 10.2

VIS OUT: 45
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sb blky-sb ang-sb plty, v

frm-brit, MRLST incl, chky

tex, v calc; MRLST (35%):

dk gy-dk med gy, mot, v

hrd, sb blky-sb ang, intbd

CHK, mod calc, sme free

pyr
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10800-10900 CHK

(75%): mot med gyshbn,
sb blky-sb ang-sb plty, v
frm-brit, MRLST incl, chky
tex, v calc; MRLST (25%):
dk med gy, mot, v hrd, sb
blky-sb ang, intbd CHK,
mod calc, occ free pyr

10900-11000 CHK

(70%): mot med
gyshbn-mot dk gyshbn,
sb blky-sb ang-sb plty, v
frm-brit, MRLST incl, chky
tex, v calc; MRLST (30%):
dk gy, mot, v hrd-frm, sb
blky-sb ang, intbd CHK,

mod calc, sme free pyr
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WOB: 46.3klbs
RPM: 60
SPM: 218
SPP: 4,569psi

MD: 11,029
INC: 90.22°
AZM: 0.92°
TVD: 7,240.27"
VS: 3,409.19'

On Gas Buster

MD: 11,118
INC: 91.19°
AZM: 0.57°
TVD: 7,239.17"
VS: 3,498.11"

MW IN: 10.2+
VIS IN: 48
MW OUT: 10.2
VIS OUT: 45

WOB: 56.2klbs
RPM: 29
SPM: 218
SPP: 3,842psi

MD: 11,207
INC: 89.87°
AZM: 2.5°
TVD: 7,238.35'
VS: 3,587.07"
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11000-11100 CHK

(65%): mot med
gyshbn-mot It gy, sb
blky-sb ang-sb plty, v
frm-brit, MRLST incl, chky
tex, v calc; MRLST (35%):
dk gy, mot, v hrd-frm, sb
blky-sb ang, intbd CHK,
mod calc, tr free pyr

11100-11200 CHK
(70%): mot It gy-mot med
gy, sb blky-sb ang-sb
plty, frm-brit, MRLST incl,
chky tex, v calc; MRLST
(30%): dk gy, mot, v
hrd-frm, sb blky-sb ang,
intbd CHK, mod calc,
sme free pyr
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gy, f-vf xIn, fri-hrd, lam ip,
rthy-chky tex, v calc;
MRLST (20%): med-dk
gy, frm-hrd, sb blky-plty,
intbd CHK, rr f pyr arns,
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13,200
F13,210
F13,220
13,230
- 13,240
13,250
13,260
F13,270
13,280
F 13,290
13,300
F13,310
- 13,320
"

F 13,330
- 13,340
- 13,350
13,360
F13,370
13,380
F 13,390
- 13,400

13,410

WOB: 41klbs
RPM: 60
SPM: 217
SPP: 4,978psi

MIMDEPTH
07/16/2019

MD: 13,257
INC: 89.69°
AZM: 1.44°
TVD: 7,234.14'
VS: 5,635.35'

MW IN: 10.4
VIS IN: 46
MW OUT: 10.4
VIS OUT: 44

MD: 13,346
INC: 90.48°
AZM: 1.44°
TVD: 7,234.01"
VS: 5,724.31"

MW IN: 10.4
VIS IN: 47
MW OUT: 10.4
VIS OUT: 44

WOB: 41klbs
RPM: 60
SPM: 217
SPP: 4,972psi
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mod calc

13200-13300 CHK
(70%): med gy-brn, tr dk
gy, f-vf xIn, fri-hrd, lam ip,
rthy-chky tex, v calc;
MRLST (30%): med-dk
gy, frm-hrd, sb blky-plty,
intbd CHK, v rr f pyr grns,
mod calc

13300-13400 CHK
(70%): med gy-brn, tr dk
gy, f-vf xIn, fri-hrd, lam ip,
rthy-chky tex, v calc;
MRLST (30%): med-dk
gy, frm-hrd, sb blky-plty,
intbd CHK, v rr f pyr grns,
mod calc
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13,420

13,430

13,520

13,530

13,540

- 13,550

13,560

13,570

13,580

13,590

13,600

13,610

13,620

13,630

L 13,440

- 13,450

- 13,460

13,470

- 13,480

- 13,490

MD: 13,435'
INC: 88.9°
AZM: 2.32°
TVD: 7,234.49'
VS: 5,813.29'

MW IN: 10.4
VIS IN: 47
MW OUT: 10.4
VIS OUT: 45

MW IN: 10.4
VIS IN: 47
MW OUT: 10.4
VIS OUT: 45

MD: 13,524
INC: 88.2°
AZM: 1.27°
TVD: 7,236.74'
VS: 5,902.24'

WOB: 65klbs
RPM: 0

SPM: 218
SPP: 4,290psi

MD: 13,614
INC: 87.76°
AZM: 359.69°
TVD: 7,239.91"
VS: 5,992.09'

MW IN: 10.4
VIS IN: 47
MW OUT: 10.4

VIS OUT: 45

T T~

T~ e
\"f ~__

2

/’\

g

—

 FEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE

N /\

/

7

7

—
|_—7

T

EEFEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE

13400-13500 CHK
(60%): gy-gyshbn wi occ
v thn chky lamn ip,
frm-brit, mod fis sb
blky-blky ctngs wi sm
arg-sl slty tex, tr forams &
fos frags, hi calc; MRLST
(40%): dk gy, frm-brit sb
ang-sb blky ctngs wi
sm-sl slty tex, mod fis, tr
pyr strg ip, mod calc

13500-13600 CHK
(75%): med gy, rr It gy-dk
gy, frm-brit mod fis sb
blky-blky ctngs wi sm
arg-sl slty tex, rr forams,
tr fos frags, hi calc;
MRLST (25%): dk gy,
frm-brit sb ang-sb blky
ctngs wi sm-sl slty tex,
mod fis, tr pyr strg ip,
mod calc wi brn mrly
resdl

Addddddddddddddddddddd)
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- 13,640

- 13,650

- 13,660

13,670

™13 680

13,690
13,700
F13,710
F13,720
F13,730
F 13,740
F 13,750
F 13,760
™

F13,770
- 13,780
F 13,790
13,800
F13,810
- 13,820
13,830
13,840

- 13,850

MD: 13,703
INC: 88.72°
AZM: 358.63°
TVD: 7,242.65'
VS: 6,080.84'

MD: 13,792'
INC: 89.6°
AZM: 359.69°
TVD: 7,243.95'
VS: 6,169.63'

WOB: 46klbs
RPM: 60
SPM: 218
SPP: 4,830psi

MW IN: 10.4
VIS IN: 49
MW OUT: 10.4
VIS OUT: 47

13600-13700 CHK
(65%): It gy-gy wi occ f
chky incl & v thn chky
lamn, frm-brit, mod fis sb
blky-blky ctngs wi sm
arg-sl slty tex, tr forams &
fos frags, hi calc; MRLST
(35%): dk gy, frm-brit sb
ang-sb blky ctngs wi
sm-sl slty tex, mod fis, tr
pyr strg ip, mod calc sh
wi brn marl resdl

13700-13800 CHK
(80%): predy gy-dk gy wi
occ wh f foram incl & thn
chky lamn, mod-hi fis sb
blky-sb plty frm-brit ctngs
wi sl slty tex, rr bent, rr-tr
forams & fos frags, rr-occ
vf-pp pyr incl & occ ptch
pyr strg ip, hi calc;
MRLST (20%): dk gy sh
sp wi brn marl incl,
frm-brit mod fis sb
blky-blky sh ctngs sp wi
brn marl incl, sl slty-slty
tex, mod calc




: s - 13,860

T
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S MD: 13,881
# [ 13,880 INC: 89.96°
/ AZM: 359.51°
( TVD: 7,244.29'
VS: 6,258.47"
£ L 13,890
|
4
L 13,900
0 R Rin/ft) 1 -l
° ( MW IN: 10.4
) VIS IN: 48
S 13,910 mw ouT: 10.4
<« VIS OUT: 47
N
b
S L 13,920
E L 13,930
NP
V'S
(3
N - 13,940
4D |
<
e o
+ 13,950
I
| <
([ £
< - 13,960
VS
/S MD: 13,970'
Ly INC: 90.48°
\\< AZM: 359.16°
/E 13,970\ 1vD: 7,243.95'
] < VS: 6,347.28'
P
N
S [ 13,980| MW IN: 10.4
< VIS IN: 46
1 MW OUT: 10.4
L VIS OUT: 46
B
413,990
\ C
/\ a WOB: 42kIbs
1 14000 RPM: 60
= },“5102\“ e T[990 sPm: 220
SPP: 4,870psi
<
>) - 14,010
I~
N
|
t [ - 14,020
Y 2
) A
L3
>
=< - 14,030
]
3 L
> 14,040
H(\%;
/ L L
—s 14,050
LN
\ | MD: 14,059'
< INC: 91.8°
\I - 14,060 | AZM: 359.69°
J TVD: 7,242.18'
)R] VS: 6,436.08'
pamR
f S - 14,070

13800-13900 CHK

\

(75%): med gy, rr It gy-dk

gy, frm-brit mod fis sb

et

L — L

blky-blky ctngs wi sm

arg-sl slty tex, rr-tr fos

frags & c sp forams, hi

N N———"]

gy, frm-brit sb ang-sb

N —1"

~

blky ctngs wi sm-sl sity

]
\
/) calc; MRLST (25%): dk
]
(
|
N

tex, mod fis, tr pyr strg ip,

tr bent, mod calc wi brn

mrly resd|

=

o)

j—

g
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13900-14000 CHK

(80%): It gy-gy, sb

frm-frm-brit, I-mod fis sb

!
et
|t

rd-sb ang-sb blky ctngs

wi sl slty tex, com thn

chky lamn & foram incl, hi

-
-

calc; MRLST (20%): dk

gy-v dk gy, frm-brit mod

\
|
/|fis sb blky-blky ctngs wi
u .jL

sl slty tex, dk gy sh sp wi

brn marl incl, mod calc

-

14000-14100 CHK

(85%): It gy-gy v arg

LS-calc sh sp wi chky

foram incl & thn chky

lamn, sb frm-frm-brit,

2\
g =

AN\

mod fis sb ang-sb blky




I \ ctngs wi sl Sity tex, tr pyr
— [ 14,080 { strg, hi calc; MRLST
7 o (15%): dk gy-v dk gy,
L \\ frm-brit mod fis sb
> [ 14090 \ blky-blky ctngs wi sl slty
N ' \ tex, dk gy sh sp wi brn
= |
\< marl incl, mod calc
)< L 14,100
o ROPYnin/ft) 1 '
S
K L 14,110 1.5&{555
/ l 600
| >
S )
)l ; L 14,120
{8
,m —
/////////,"///////////////////////////4 14.130
Il/{{ 00070000 '
A ——
\
—— \
00777777788 14140
%7777 '
T4 7777777 MW IN: 10.3
7 VIS IN- 47
. O :
MW OUT: 10.3
14,150 _
< VIS OUT: 46 \\\
MD: 14,159'
( - 14,160 'IL\IZCN:I _93-598: 14100-14200 CHK
|) TVD: 7,239.49 (75%): It gy-gy, sb
VS: 6,535.91" frm-frm-brit, I-mod fis sb
- 14,170 ! rd-sb ang-sb blky ctngs
P " . 7|wi sl slty tex, com thn
\i At chky lamn & foram incl, hi
> 14,180 calc; MRLST (25%): dk
gy-v dk gy, frm-brit mod
fis sb blky-blky ctngs wi
L 14,190 sl slty tex, mod calc sh sp
WOB- 33Klbs ™ wi brn marl incl
— RPM: 60 -
7 SPM: 213 T \
- 14,200 -
o rar dnins 4 ' SPP: 4,090psi = H?,g\ fmu
i) N N TiE 7<
U U/;\ l 1) oU Rubber over I:: (J].U L,00UcA
1 [ 14210 shakers, TOOH T 50\ TS
J> ““lfor mud motor | = i)
@ 13:20hrs on | 70— 2353 286 =3 |
S/ 7/16/19 =
L( (\ - 14,220 T 0
T Resume drilling Tig \
l> M @ 10:40hrson | 7= ul &
< [ 14030|7/17/19 with =
| " |re-run bit b
> A
S = |
14,240 | vp: 14,248 THE |
INC: 91.71° T \\
> AZM: 0.04° =
[ THE | \
| TVD: 7,237.17' - [ER \
> [14.2%0|ys: 6,624.77 Bl \ \
S TS \ \
[ i | ]
>t I 104 — ( | |14200-14300 CHK
[) (\ [ 14,260 VIS IN: 48 I:E { \\ (85%): It gy-gy sp wi occ
> D MW OUT: 10.3 T { | [|chky foram incl, predy
[) ; VIS OUT: 47 = [ [ frm-brit, sb frm ip, I-mod
<) 14,270 T \ fis sb rd-sb blky ctngs wi
g ::E \\ sl slty-slty tex ip, rr ¢ sp
G e \ chky forams ip, hi calc;
I) 14,280 = MRLST (15%): dk gy-v dk
> T gy mod calc sh sp wi brn
|\ TiE marl incl, frm-brit, sb frm
; \\ L 14,290 TiE ip, mod fis sb blky-blky
S\ T ctngs wi sl slty tex
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- 14,300

14,310

- 14,320

14,330

- 14,340

- 14,350

- 14,360

- 14,370

- 14,380

- 14,390

- 14,400

- 14,410

- 14,420

- 14,430

- 14,440

- 14,450

- 14,460

- 14,470

- 14,480

- 14,490

- 14,500

14,510

MD: 14,338
INC: 89.96°
AZM: 0.39°
TVD: 7,235.86'
VS: 6,714.65'

MW IN: 10.4
VIS IN: 47
MW OUT: 10.4
VIS OUT: 46

WOB: 41klbs
RPM: 60
SPM: 203
SPP: 4,470psi

MD: 14,427
INC: 89.69°
AZM: 359.86°
TVD: 7,236.13'
VS: 6,803.53'

MD: 14,516
INC: 89.96°

:E { CI-CH(PPM) Y
T8 150 | |[ 1583 1.5 1.5E5)E6
: : ) Pason G 06/%"2'”\ . }
T - 0.6 a uj
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s Ve \
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= 130 . 15EBES |
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= I
= I ARIVAN |
= JEprrTy
- ]
= =
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= 47Uk @@=
::: .| Q‘ iunite)
e : 4l W00 1,000HE4
e —— | CIES[(PAMN
- LES SeaC 1 5RSEG |
EaE | Pasoh Gas (unitk)
: 0.6 6 {e] 1 600—4E3

14300-14400 CHK
(75%): It gy-gy, frm-brit,
sb frm ip, I-mod fis sb
rd-sb blky ctngs wi sl
slty-slty gt tex ip wi chky
incl & thn chky lamn ip, rr
gysh gn bent wi pyrc strg
ip, rr ¢ chky foram incl ip,
hi calc; MRLST (25%): dk
gy-v dk gy mod fis sb
blky-blky frm-brit ctngs wi
brn marl incl ip, rr gysh
gn bent wi pyrc strg ip,
mod calc sh wi brn marl
resdl

14400-14500 CHK
(90%): It gy-gy wi com
chky foram incl & thn chky
lamn, frm-brit, mod fis sb
blky-sb plty ctngs wi sm
arg-sl slty tex, rr ¢ chky
forams, hi calc; MRLST
(10%): dk gy mod calc sh
sp wi brn marl incl ip &
occ chky incl wi incr chky
incl grdg to chk, frm-brit
mod fis sb blky-blky
ctngs wi sl slty tex, tr bent




AZM: 359.86°

TVD: 7,236.4'

- 14,520

VS: 6,892.39'

e | N

A4

- 14,530

L 14,540

/-—l

—

- 14,550

- 14,560

- 14,570

14500-14600 CHK

(100%): It gy-gy wi com

~—~———~

(V VIV V

681U} g —— f-c forams & thn chky

- 14,580
™

q lamn, frm-brit, mod fis sb

blky-sb plty ctngs wi sm

L

arg-sl slty tex, rr-tr bent, hi

- 14,590

W

WOB: 41klbs calc, wi rr mrist ip

RPM: 60

L~

SPM: 204
OP-(min/ft) 1 [ 14,600 SPP: 4,580psi

|

AS funits l
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AP 50 1T 10 10 Lppass

MD: 14,605'

—V

C1-CE|(PPI

—

INC: 90.75°

|

N N

1150 1.568 1.5 1.5EHE6

- 14,610| AZM: 359.69°

TVD: 7,235.85'

106 6 60 600} 6E3

=~

VS: 6,981.25'

14,620

- 14,630

T~~~

- 14,640

MW IN: 10.4

- 14,650 VIS IN: 47

MW OUT: 10.4

VIS OUT: 47

- 14,660

(85%): It gy-gy sp wi occ

chky foram incl, predy

[
[
[
} 14600-14700 CHK
[
[
(
|

frm-brit, sb frm ip, I-mod

14,670

fis sb rd-sb blky ctngs wi
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A
L sl slty-slty tex ip, rr ¢ sp
)/ ’l chky forams ip, hi calc;
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14,680

—
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| MRLST (15%): dk gy-v dk

=~

/ gy mod calc sh sp wi brn

P
-

marl incl, frm-brit, sb frm

V

14,690 | MD: 14,694

A

INC: 89.43° ip, mod fis sb blky-blky

AZM: 0.74° ctngs wi sl slty tex

| TVD: 7,235.71'

- 14,700|VS: 7,070.14'
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14,740 Z X
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| - \
| = |
L 14,750 o \\
i 14700-14800 CHK
ZE [1(90%): It gy-gy spec wi
14,760 ke com chky foram incl & thn
MWV IN: 10.4 - chky lamn ip, frm-brit
oot o = || mod fis sb blky-blky
L 14,770 |VIS OUT: 46 = ctngs, sb rd | fis chk ip, rr
B ¢ sp chky forams, tr cal &
MD: 14.783' i mict cal, hi calc; MRLST
| 14,780 |INC: 89.43° ke (10%): dk gy sh spec wi
AZM: 0.57° i | occ brn marl incl, frm-brit
TVD: 7,236.6 - mod fis sb blky-blky
14790 VS 7.159.05 i ctngs wi sl slty tex, tr vf
< ' E pyr, mod calc wi brn mrly
[ WOB: 42Klbs - | resdl
| RPM: 60 = i
OP-(min/ft) | 14.800) spwm: 205 & U S A i
(AFT) oU SPP 4’54OpSI E \ J.U\\ EUU \ \ 1,000
= SICHPRM) \
L - {1563 L5E4 )| | 158566
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> TVD: 7,237.01' - (100%): It gy-gy wi com
:3 [ 14 gg0| VS: 7:248.96' i f-c forams & thn chky
C ' e | | lamn, frm-brit, mod fis sb
[ & [N blky-sb plty ctngs wi sm
> B arg-sl slty tex, rr-tr bent, hi
c - 14,890 B . :
> ’ & calc, wi rr mrist ip
S &
e :
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- 14,960

- 14,970

- 14,980

- 14,990

- 15,000

15,010

15,020

15,030

15,040

- 15,050

- 15,060

- 15,070

15,080

15,090

15,100

15,110

15,120

15,130

15,140

15,150

15,160

15,170

INC: 90.84°
AZM: 0.39°
TVD: 7,236.33'
VS: 7,337.86'

MW IN: 10.4
VIS IN: 48
MW OUT: 10.4
VIS OUT: 46

WOB: 41klbs
RPM: 60
SPM: 204
SPP: 4,590psi

MD: 15,051
INC: 91.1°
AZM: 0.21°
TVD: 7,234.82'
VS: 7,426.75'

MD: 15,130
INC: 91.45°
AZM: 359.69°
TVD: 7,233.07"
VS: 7,505.61"

Reach TD of
15,195' @
15:45hrs on
7/17/19
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14900-15000 CHK
(100%): It gy-gy wi com
f-c forams & thn chky
lamn, frm-brit, mod fis sb
blky-sb plty ctngs wi sm
arg-sl slty tex, rr-tr bent, hi
calc, wi rr mrlst ip

15000-15100 CHK
(90%): It gy-gy spec wi
com chky foram incl & thn
chky lamn ip, frm-brit
mod fis sb blky-blky
ctngs, sb rd | fis chk ip, rr
¢ sp chky forams, tr cal &
mict cal, hi calc; MRLST
(10%): dk gy sh spec wi
occ brn marl incl, frm-brit
mod fis sb blky-blky
ctngs wi sl slty tex, tr vf
pyr, mod calc wi brn mrly
resdl

15100-15195 CHK
(100%): It gy-gy wi com




VT VV VYV

______________ A | /' T-C Torams & thn chky
/ lamn, frm-brit, mod fis sb
blky-sb plty ctngs wi sm

*Bit Projection*

15,180

I i
MD: 15,195' g [
INC: 91.5° o \\ arg-sl slty tex, rr-tr bent, hi
AZM: 359.7° e {|calc, wi rr mrlst ip
F151901 1yp. 723139 [t |
VS:7,570.48' [ty \I
L1E 2NN




